
This instruction set will lead you through the process of 
installing Spectrum Gate Kits onto Spectrum railing systems. 
Gate kits come standard with cable/fittings pre-installed and 
are offered in standard Spectrum color options: Black, Dark 
Brown, Metallic Silver and White. These gate kits are install-
er friendly and attach easily to stock Spectrum Hinge/Latch 
posts using the Mounting Hardware Kit (sold seperately). 
Through-bolt attachment allows the gate to easily adjust 
to a variety of configurations. Customer sourced top rail is 
attached to the gate frame using the supplied screws.

Gate Kit Installation

TABLE OF CONTENTS

TOOLS NEEDED.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 	1

WARNINGS.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .2

INSTALL TIPS.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2

PRODUCT SPECIFICATIONS.. . . . . . . . . . . . . . . . . . . 2

GATE KIT INSTALLATION.. . . . . . . . . . . . . . . . . . .3 - 5
	 Overview.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ...... . . . . .3
	 Components, Gate. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .3
	 Configurations, Gate... . . . . . . . . . . . . . . . . . . . . . . . . . . .3
	 Installing the Posts & Hardware. . . . . . . . . . . . . . . .4
	 Installing the Gate. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .5 

CONTACT INFORMATION:
Atlantis Rail Systems
70 Armstrong Road	 3900 Civic Center Drive
Plymouth, MA  02360	 North Las Vegas, NV  89030

 (800) 541-6829 or  (508) 732-9191
  (508) 732-9798
  www.atlantisrail.com
  

TOOLS NEEDED

Hand Swage Tool
#E0113-H600

Cable Cutter
#C0989-00HD

3/8” & 7/16” 
Combination 
Wrench Set

#C0731-TK01-2

Grommet Install 
Tool

#E0916-1000

Cable Grip Pad
#E0114-0000

After Swage 
Gauge

#E0113-HG00

Here is a list of tools needed to install your Atlantis Rail 
Spectrum Gate Kit. Most of the required tools are common. 

	 - Power Drill	 - Safety Glasses	
	 - 5/32” Drill Bit	 - Level
	 - 1/4” Drill Bit	 - #2 Phillips Driver Bit	
	 - Pencil	 - 1/8” Allen Key
	 - Tape Measure	 - Miter Saw
	 - Ratchet & Socket Set 	 - Silicone Caulk
	 - Phillips Screw Driver 	 - Carpenter ’s Square
	 - Flathead Screw Driver
	

Specialized tools offered by Atlantis Rail
These tools are mainly used for installing cable on Spectrum Systems
	

©2022 All Rights Reserved ▪ Atlantis Rail Systems, RailEasyTM and HandiSwageTM 
are registered trademarks of Suncor Stainless, Inc. ▪ www.atlantisrail.com1 June 2022

Touch-up Paint
Spectrum

#P0904-P000-XX
NOVA II

#A0906-P051-XX

Bench Swage Tool
#E0115-H600

STORE YOUR ORDER INDOORS TO KEEP DRY! 
Some items in your order have been shrink 
wrapped with a protective poly film. Avoid expos-
ing these items to harsh weather and moisture 
to avoid damaging powder coated surfaces. 
When you’re ready to install product, remove 
the protective shrink wrap before or immediately 
after installation.



©2022 All Rights Reserved ▪ Atlantis Rail Systems, RailEasyTM and HandiSwageTM 
are registered trademarks of Suncor Stainless, Inc. ▪ www.atlantisrail.com2 June 2022

ALWAYS REFER TO YOUR LOCAL BUILDING 
CODE OFFICIALS PRIOR TO INSTALLING 
ANY ATLANTIS RAIL SYSTEM to ensure all 
code and safety requirements are met. 
Atlantis Rail Systems is not responsible 
for improper or non-recommended 
installations.

ATLANTIS RAIL SYSTEMS PROVIDES A 
VARIETY OF MOUNTING OPTIONS FOR 
POSTS AND RAILS USED IN OUR SYSTEMS.  
PRODUCTS OF THIS NATURE REQUIRE 
THAT MOUNTING SURFACES ARE 
CONSTRUCTED TO BE CONSIDERED 
STRUCTURAL PER BUILDING CODE 
DEFINITION FOR THE SURFACE MATERIAL 
USED.  Structural integrity and building 
code compliance of mounting surfaces are 
the responsibility of the end user and/or 
installer. The use of any of our mounting 
methods are at the option and decision 
of the end user and/or installer and should 
be selected to match the structural material 
used to create the mounting surface.

WARNINGS

Follow the tips below to ensure a successful 
installation of your Spectrum Gate!

● READ THE INSTRUCTIONS completely before 
	 beginning the installation.

● CHECK CARTON(S) to determine part count 
	 is complete.

● ALWAYS WEAR PERSONAL PROTECTION 
	 EQUIPMENT; safety glasses, work gloves, etc.

● DO NOT OVER-TORQUE THE SCREWS.  
	 Avoid stripping the heads of any fasteners.

● TOUCH-UP ANY SCRATCHES. After completing 
	 the installation of your Spectrum Gate, look for any 		
	 scratches and/or damage to the powdercoating. 
	 These can easily be fixed using our Touch-Up Paint. 

INSTALL TIPS

	 Spectrum Gate Product Specifications
	 Part Number	 Description	 Use 
	 Gate Kits

S0905-GT36-XX*	 Spectrum Gate Kit, 36” - Powder-coated 316 SS	 Complete gate frame with pre-installed cable
S0905-GT42-XX*	 Spectrum Gate Kit, 42” - Powder-coated 316 SS	 Complete gate frame with pre-installed cable

	 Gate Posts
S0905-LP36-XX*	 Spectrum Gate Latch Post, 36” - Powder-coated 316 SS	 Use with Spectrum 36” Gate Kit. Drilled for mounting latch hardware
S0905-LP42-XX*	 Spectrum Gate Latch Post, 42” - Powder-coated 316 SS	 Use with Spectrum 42” Gate Kit. Drilled for mounting latch hardware
S0905-HP36-XX*	 Spectrum Gate Hinge Post, 36” - Powder-coated 316 SS	 Use with Spectrum 36” Gate Kit. Drilled for mounting hinges
S0905-HP42-XX*	 Spectrum Gate Hinge Post, 42” - Powder-coated 316 SS	 Use with Spectrum 42” Gate Kit. Drilled for mounting hinges

	 Gate Mounting Hardware
S0905-HDG01	 Hardware Kit, Spectrum Gate	 Complete kit including Hinges, Latch and Mounting Hardware
P0950-0041-2	 Hinges, Black (2 Pack) - Polymer/Stainless Steel	 Dedicated hinge set for Spectrum Gates and Hinge Posts 
P0950-0050	 Latch, Black - Polymer/Stainless Steel	 Dedicated latch set for Spectrum Gates and Latch Posts 
S0909-0538	 Button Head Cap Screw, #10-24 UNC x 1.50” - 316 SS	 Part of “through post” hardware set for mounting hinges and latch
S0303-BN0513	 Barrel Nut, #10-24 UNC x 0.50” - 316 SS	 Part of “through post” hardware set for mounting hinges and latch
P0913-0625-XX*	 Wood Screw, Pan Head, #10 x 1” - 316 SS	 Used to mount top rail to the top of the Spectrum gate frame

	 Cable Hardware
S0731-GT03	 Gate Tensioner - 316 SS	 Used to tension cable assembly
S0731-HG0703	 Termination Stud - 316 SS	 Fixed end of each cable assembly
S0701-0003	 1/8” Wire Rope, 1x19 - 316 SS	 Each Spectrum Gate Kit comes with this cable pre-installed
P0905-WA315	 Insulating Washer, 1/4”	 Use w/ Termination Stud (S0731-HG0703) & Barrel Nut (S0303-BN0513)
P0905-WA330	 Insulating Washer, 3/8”	 Used when installing the Gate Tensioner (S0731-GT03)

* “XX” in the part number is the color designation. Replace with “BK” for black, “MT” for metallic silver, “WH” for white, “BR” for dark brown or “SP” for special color.



©2022 All Rights Reserved ▪ Atlantis Rail Systems, RailEasyTM and HandiSwageTM 
are registered trademarks of Suncor Stainless, Inc. ▪ www.atlantisrail.com3 June 2022

Spectrum Gate Kits OVERVIEW
Designed for use with Spectrum Rail Systems. Requires the use of a Spectrum Latch and Hinge Posts.

 GATE KIT INSTALLATION	 SPECTRUM

H. Spectrum Hinge Posts 
    36” (S0905-HP36-*XX)
    42” (S0905-HP42-*XX)

D. Barrel Nut 
    (S0303-BN0513)

F. Termination Stud 
    (S0731-HG0703)

COMPONENTS

CONFIGURATIONS

G. Spectrum Latch Posts 
    36” (S0905-LP36-*XX)
    42” (S0905-LP42-*XX)

E. Gate Tensioner 
    (S0731-GT03)

C. Button Head Cap Screw
    (S0909-0538)

A. Gate Latch, Black
    (P0950-0050)

B. Gate Hinges, Black - 2 Pack 
    (P0950-0041-2)

Swings OUT / Hinged RIGHT
Latch Post left, Hinge Post right 
and Gate swings outward.

Swings OUT / Hinged LEFT
Hinge Post left, Latch Post right
and Gate swings outward.

Swings IN / Hinged RIGHT
Latch Post left, Hinge Post right 
and Gate swings inward.

Swings IN / Hinged LEFT
Hinge Post left, Latch Post right 
and Gate swings inward.

KEY :  LP = Latch Post  /  HP = Hinge Post 

LP HP HP LP

LP HP HP LP

OUT / RIGHT OUT / LEFT

IN / RIGHT IN / LEFT

A
C D

F

A

F

F

E
H

G

B
C D

C D

C D

* “XX” in the part number is the color designation. Replace with “BK” for black, “MT” for metallic silver, “WH” for white, “BR” for dark brown or “SP” for special color.



INSTALLING THE POSTS
	 Position the Latch and Hinge Posts:
	 Whether installing a gate on a 36” or 42” Spectrum system, 
	 the in-between posts dimension will always be the same. 
	 Position the Latch Post and Hinge Post so that they are in line 	
	 with each other and there is 37-1/2” in between. See (Fig. A)

	 Confirm the Positioning: 
	 Use a measuring tape and to confirm the position of each post. 	
	 See (Fig. B)

	 Mark & Pre-Drill: 
	 Once you are sure of the positioning of the posts, mark the hole 	
	 locations with a pencil and pre-drill using a 1/4” drill bit. See 	
	 (Figs. C & D)

	 Secure the Posts: 
	 Using the mounting lag screws on your order, 
	 install each post securely into place. See (Fig. E)

	 MAKE SURE POSTS ARE INSTALLED PLUMB! 
	 Adjustments/shimming may be necessary.	
	 Use silicone caulking on each lag screw head 
`	 and secure caps firmly into place. See (Fig. F)

	 Install the Base Covers: 
	 DON’T FORGET THE BASE COVERS! 
	 See (Fig. G)
	
 BEFORE YOU CAN ATTACH THE GATE

	 Attach Top Rail on each side 
	 of the Gate Opening:
	 Before you attach the gate kit, the Latch and 
	 Hinge Posts must be fully secured to the 
	 structure and be fastened to the top rail on 
	 each side of the gate opening. The top rail 
	 should overhang the post by 1/4” in order to 
	 cover the post’s top mounting plate.

©2022 All Rights Reserved ▪ Atlantis Rail Systems, RailEasyTM and HandiSwageTM 
are registered trademarks of Suncor Stainless, Inc. ▪ www.atlantisrail.com4 June 2022

1.

2.

3.
37-1/2”

A

4.

5.

6.

Attach the Gate’s Top Rail: 
Use supplied pan head wood screws to 
secure your top rail to the Gate Frame. 
We recommend pre-drilling mounting holes 
with a 5/32” drill bit. Ends of the top rail 
should be cut flush with sides of the gate.

Install Hinges to the Gate Frame:
Attach the gate hinges to the frame being 
mindful of your desired configuration and the 
orientation of the hinges. Hinges attach eas-
ily using the supplied through-post hardware 
(cap screws, barrel nuts and 1/4” washers).

Install Latch to the Gate Frame:
Attach the gate latch to the frame being 
mindful of your desired configuration and 
the orientation of the latch. Attach using 
the supplied through-post hardware (cap 
screws, barrel nuts and 1/4” washers).

7. 8. 9.

INSTALLING THE TOP RAIL & HARDWARE KIT

C

E F

D

G

B



INSTALLING THE GATE
	 Attach Hinges to the Hinge Post:
	 With the assistance of a helper (or wood 
	 blocks placed under the gate to bring it 
	 to the correct height), attach the hinges 
	 to the hinge posts using the cap screws, 
	 barrel nuts and 1/4” washers. (See Fig. H)

	 Attach Latch Receiver to the Latch Post:
	 Using the supplied cap screws, barrel 
	 nuts and 1/4” washers, attach the latch 
	 component that receives the gate latch 
	 onto the Latch post. Make sure the metal 
	 latch rests properly in the contour of the 
	 receiver. (See Fig. I)

	 Test the Gate:
	 Does the gate open and close correctly? 
	 And is the gap in between the gate and the posts consistent? 
	 (See Fig. J)
	 If not, make any necessary adjustments.

	 Install the Plastic Covers onto the Hinges:
	 For a clean look, install the black plastic covers that come with 
	 the hinge set to cover/hide the mounting screws. See (Fig. K)

	

	 Adjust the Tension of the Hinges:
	 The gate hinges are designed to “self-close” under tension.
	 To achieve the desired tension, use a flat head screwdriver 
	 to adjust the hinge. Depress the adjustment dial and turn 
	 counter clockwise to increase the tension. To reduce the amount 
	 of tension, turn the dial clockwise. See (Fig. L)

	 IMPORTANT NOTE:
	 Termination Studs MUST be used on Hinge and Latch Posts
	 For proper clearance of gate, you must use Termination Studs 
	 on the end of cables installed at the Latch and Hinge Posts. 
	 See (Fig. M). The Termination Studs are offered in the following; 
	 2 packs (C0731-HG0703-2) and 10 packs (C0731-HG0703-10). 
	 Use the 1/4” Insulating Washers (P0905-WA315) in between the 
	 head of each Termination Stud and the post to prevent damage 
	 to the powdercoat finish of each post.

©2022 All Rights Reserved ▪ Atlantis Rail Systems, RailEasyTM and HandiSwageTM 
are registered trademarks of Suncor Stainless, Inc. ▪ www.atlantisrail.com5 June 2022

10.

11.

12.

13.

H I

J

HINGE RANGE Maximum Maximum
Self-Closing Weight Gate Dimensions

REGULAR RANGE 66lb (30kg) per pair *5'Hx3'W (1524x915mm)
HEAVY DUTY RANGE 154lb (70kg) per pair *6'Hx4'W (1830x1220mm)
*Always space the hinges as far apart from each other as possible for maximum holding strength.

GRADO DE ABERTURA DE LA BISAGRA Peso máximo Dimensiones máximas de  
autocierre  de la puerta 

VARIACIÓN REGULAR 66lb (30kg) por par *5’Hx3’W (1524x915mm)
GRADO DE ABERTURA REFORZADO 154lb (70kg) por par *6’Hx4’W (1830x1220mm) 
*Siempre separar las bisagras lo más posible una de otra para obtener la máxima resistencia de sostenimiento.

RAYON DE LA CHARNIÈRE Poids maximum pour Dimensions maximums  
fermeture automatique du portillon

RAYON NORMAL  30 kg (66 livres) par paire  *5’Hx3’W (1524x915mm)
RAYON POUR PORTILLON LOURD 70 kg (154 livres) par paire *6’Hx4’W (1830x1220mm) 
*Espacer toujours les charnières le plus possible l’une de l’autre pour obtenir le meilleur support.

Maintenance Requirements
Note: The hinges will operate properly, and warranty is valid, only if installed in 
accordance with the instructions and specifications shown herein.
• Use only two (2) TruClose hinges on any one gate.
• Remove all other types of hinges and self-closing devices.
• Each hinge must have equal tension at all times.
• Ensure the gate does not swing through the line of the fence. Use a “gate stop”

or a latch (with striker) to prevent this.
• Do not lubricate these hinges with petroleum-based lubricants at any time.

Use only powdered graphite.
• Ensure the hinges are kept free of sand, ice and other debris that could impair
   effective operation. 
• Do not disassemble these hinges at any time.
• Do not paint or apply an additional finish to the hinges.
• Never remove hinges from gate until spring tension is released.
• Do not physically cut, drill, countersink, machine or grind any part

of the hinge leaves.

• Usar únicamente dos (2) bisagras TruClose por puerta.
• Retirar cualquier otro tipo de bisagra existente y aparatos de autocierre.
• Cada bisagra deberá tener la misma tensión en todo momento.
• Asegurarse de que la puerta no se balancee a través de la línea de la cerca.

Usar un tope para puertas o cerrojo (con cerradura hembra) para evitar que
esto ocurra.

• No lubricar estas bisagras con lubricantes a base de petróleo, en ningún momento.
Usar únicamente grafito en polvo.

• Asegurarse de mantener las bisagras sin arena, hielo ni ningún otro tipo de
escombro que podría dificultar la efectividad de la operación.

• No desarmar estas bisagras en ningún momento.
• No pintar ni aplicar acabados sobre estas bisagras.
• No retirar nunca las bisagras de la puerta hasta que se suelte la tensión
del resorte.

• No cortar, perforar, hacer un avellanado, usar una máquina ni esmerilar
físicamente ninguna parte de las hojas de las bisagras.

• Por razones de seguridad, retirar los pernos o tornillos sobresalientes
después de la instalación mediante su corte, esmerilado o limado.

Exigences d’entretien
Remarque : Les charnières fonctionnent correctement, et la garantie  
est valide, seulement si elles sont installées en accord avec les instructions et 
spécifications décrites ici.
• Utilisez uniquement deux (2) charnières TruClose sur chaque portillon.
• Retirez tout autre type de charnière ou dispositif de fermeture automatique.
• Chaque charnière doit avoir la même tension à tout instant.
• Assurez-vous que le portillon ne s’ouvre pas au-delà de la clôture. Utilisez un
“butoir de portillon” ou un loquet (avec une gâche) pour éviter ceci.

• Ne graissez jamais ces charnières avec des lubrifiants à base de pétrole.
Utilisez uniquement de la poussière de graphite.

• Assurez-vous qu’il n’y ait pas de sable, de glace ou d’autres débris dans les
charnières qui pourraient en affecter le fonctionnement.

• Ne démontez pas ces charnières pour le moment.
• Ne peignez pas ou appliquez de revêtement aux charnières.
• Enlevez les charnières du portillon seulement s'il n'y a pas de tension dans

les ressorts.
• Aucune partie des paumelles de la charnière ne devrait être coupée, percée,

fraisée, usinée, ou meulée.
• Pour des raisons de sûreté, retirez les écrous et vis qui dépassent suite à l’instal

lation en les coupant, et/ou en les limant.

Para un version de nuestra garantia limitada de por vida descargable en 
Adobe Acrobat (pdf), vaya a nuestro sitio Web en www.ddtechglobal.com

Requisitos de mantenimiento 
Observación: Las bisagras funcionarán correctamente y la garantía será 
válida únicamente si su instalación se realiza de acuerdo con las instrucciones y 
especificaciones aquí descritas. 

www.GateHardwareCenter.com
(800) 878-7829

sales@GateHardwareCenter.com

1 2

3

USE 
 MAXIMUM 
SPACING  
BETWEEN  
HINGES

10g - 5/32” (4mm)
12g -11/64 ” (4.5mm)

#2
Hi-Performance Hardware

Installation Instructions
Procedimientos de instalación
Instructions d’installation

Level

Regular models - Use 10g screws
Heavy Duty models - Use 12g screws

1/4 ” (6mm) straight edge

SERIES 3

3/4” (19mm)

GATE GAP
2 ALIGNMENT LEG models (L2)

INSTALL HINGES TO GATE FIRST

INSTALL HINGES TO FENCE POST

3 1/2” (90mm)

#2

Regular - TCACAPS3
Heavy-Duty - TCHDCAPS3

Optional Safety Cap prevents 
hinge being used as a foothold 
by toddlers.

USAR MÁXIMO 
ESPACIO ENTRE 

BISAGRAS

UTILISER LE PLUS 
D’ESPACE  

POSSIBLE ENTRE 
LES CHARNIÈRES

INSTALAR BISAGRAS 
AL POSTE DE LA 

CERCA

INSTALLER LES 
CHARNIÈRES AU 
POTEAU DE LA 

CLÔTURE

INSTALAR BISAGRAS PRIMERO  
A LA PUERTA 

INSTALLER LES CHARNIÈRES 
SUR LE PORTILLON EN PREMIER

Tapatornillos de seguridad ayudan a prevenir 
que la bisagra sea usada como punto de 
apoyo para pies en los niños pequeños. 

Le capuchon optionnel de sécurité empêche 
les enfants de se tenir sur la charnière. 

ESPACIO DE LA PUERTA CON  
2 PATAS DE ALINEAMIENTO

ESPACEMENT DE PORTILLON
MODÈLES AVEC 2 PATTES D’ALIGNEMENT (L2)

ADJUST TENSION WITH GATE CLOSED
AJUSTAR LA TENSIÓN CON LA PUERTA CERRADA
RÉGLER LA TENSION AVEC LE PORTILLON FERMÉ

See other side for tension adjustment
Ver al reverso sobre el ajuste de la tensión
Consulter le verso pour le réglage de la tension

Important: For gates over 30lb (14kg), support gate while adjusting tension.

Importante: Para las puertas de más de 30lb (14kg) sostener la puerta 
mientras se ajusta la tensión.
Important : Supporter tout portillon de plus de 14 kg (30 livres) durant 

le réglage de la tension.

HINGES

14.

L

K

1

2

3

TENSION
ADJUSTMENT

1. Depress
2. Turn
3. Release

HINGE COVERS

Adding

Removing

The Spectrum Gate Installation is COMPLETE!

15.

Latch Post Hinge Post

M

Termination
Studs

Termination
Studs


